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[ untitied4 | hikmatm x| 4 | NEds &R UDEL- G 0E D
1= commandwindow
2= clear
3- clc 500 ' ' ' ' ' ' '
4 — close all
5= syms m t 450 - |
6 — t & [0:0:557:5]
7= m= 2040-1890*exp(-0.025* (t))
8 — plot (t,m) 400 B
2= xlabel ('time (hr) ')
10 — ylabel('m(1lb) ') 350 | |
11| = grid minor =
13 = grid on CE’
300 §
250 7
Command Window | 200 r . |
fa)
7 B
150 : : : : : : :
0 1 2 3 4 5 6 7 8
time(hr)
m =
Columns 1 through 14
150 173.48 196.66 219.56 242.18 264.51 286.56 308.35 329.86 351.4 372.08 392.8 413.26 433.47

Columns 15 through 16

453.43 473.13

x>

nn - -
“ Evaluating current section
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Fle Edt View Inten Teoolt Decktop Window Help

LODEL- 2 0E aD

*19  acetometlabm | onlineclassiradioactivity.m  ~ eng2@quiz2m | assignmentS_Im | assignment3_2_t.m o+ | 7
{ =  conmandwindow Dade h|%
> = cleas
~ cle
4 - close ail 100
S - Ta=2:2:500
§ — tb=1:2:500 1000
7 - y={50/0,05;=((S0/1.0023) *=s4n(tk) )+ ([ (50%0.05)/(1.0025)) *cos (th) )—-S02.45%axp (-0.03*th)
8 - ym=1000—-(300*exp (-0.05 2} ) 800
= yo=ly ym]
10 - tg=(ta tb) 800
i plazt (tg,Yq)
23 gcid on = 700
13 - grid minor 'g
14 - xXlabel (‘Vilizzsi') r-' 600
15 — yviabei ('I(min)*)
16 — col header={‘:(min)', 'viliczei‘} 500
iy B Riawrite (*Ci:\Dyera\Jevitan\Documenta\MATLAR \0dsvhesdata. . xlsx"', [tg(:) . ya(:) ], "veril=z", "A2"Y)
18 - xlswrice ('C:\OJsers\Seyitan\Documenss\MATLAB \odevoeadata.xlsx',col header, ‘veriler',‘Al’) 400
300
200 ‘
Current Folder 0 50
Nzme -

Masa o

400

AB0

500




